Math437, Exam 2, 11/15/2016

SHOW ALL WORK!

Problem 1. Prove that for any o € BR™ we have
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Problem 2. Prove that for any A € R™*™ we have
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Problem 8. Write the Jacobi iterative method for the matrix A € R™®*™ below. Show that A is

positive definite
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Problem 4. Prove that the Jacobi iterative method 'For
initial guess. Here A is defined in Problem 3. —> S W

system Axr = b converges for any
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Problem 5. Let f(z) = z!! + 15z — 2016.
(a) Compute the Lagrange interpolation polynomial of f at the points {—1,0,1}.
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(b) Compute the Lagrange interpolation polynomial of f at the points {—1,0,1,2}
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(¢) Compute the divided differen

by
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